SIDE-LOAD BOTTOM PIVOT ASSEMBLY, 70mm PIVOT POINT f CONCEALED OVERHEAD DOOR CLOSER

CENTRE PIVOTED - DOUBLE OR SINGLE ACTING

Alternative method of fixing
to metal thresholds -1
Note: 1 full turmn
_ equais 2mm adjustment ; i

3 --'_:Prepare the bottom rail of the doot to accomodate-the'prvot shoe with 2No. drilled and tapped MG -
o holes ‘at 98.5mm and 143mm centres. "'
SRR a1 pwot shoe to: unders;de of door, through the slotted holes with 2No. M6 x 10mm round head

RO ._'.f'screws and Eock-washers

'f_{:l.__--acmeved THIS FINAL FIXING MUST BE USED

s lf an alumrnrum threshold |s be:ng used prepare as shown be!ow O

. The Smm thick plate is held in position by the M5 countersunk screw and the prvot bott can be

- installed. : Determine the correct height of. the prvot and tighten the locknut. - ; R
iffthe bolt protrudes below the base of the thresho id excess must be removed or the floor ievel _-_':: i
dnlled'accordrngiy AT : : o : L

Holdrngz do e at approxrmately 15 degrees Iower onto the prvot bolt and swmg the door into the :
srtical posrtron iocatrng the closer: splndle :nto the armrecess.. . . - g
“Note: To ease the hangmg of srngle actfon doors |t may be necessary to temporarrly remove the
cood aiready fitted: .
i ;Wedge the door in posmon and fet the arm ctamp block Wi the 3 No socket head screws and_ .
. conicat lock washers. Use allen key provided to t:ghten block down securely..
*Frt tag plate to top rari cut-out, Align door to. ;amb and meetrng stile by adjustrng screw (C) and
bolts (D) Fst flnal frxrng screw in bottom plvot shoe and trghten all f;xrngs securely R




TRANSOM/HEADER BAR, 70mm PIVOT POINT | SIDE-LOAD TOP ARM AND CHANNEL, 70mm PIVOT POINT

218

T M

|
T & crsfor MB ) & ‘

PIVOT POQINT
T

- 255 ! 18

Prepare the top rail of the door as detailed, ensurmg ‘hat the internat faces of the stile and top rail
_have been cut away to enable the cicser spindle to be engaged during door. hangmg

é@@ ; Drilt 7mm hole in the heel of the door giving access to the adjustment screw (C)
_ L o . *Fit'steel arm channel to the door top rail using the 4 No. M6 csk screws (A).
I % ” C “Fitthe adjustment screw (C) into the channe! post and the 2No. alignment bolts into the arm,
T+ ' || M5 x 24mm screws, washers . Place the arm into the channel and fit the large countersunk washer and socket head screw (B).
BN s, - Slide the arm centraity over the pre- punched p:vot poent mark in the channel and adjust posrt;on

—}= +3mm clearance

- with'screw (C). =~
Unwmd a!:gnment bo!ts (D) equally on to the steeE channe! upstands T:ghten all frxmgs i

1 op o pooR

L Seleat fuxmg roles ost Sisitable: ° '. .
“ - for section and drilt clearance snze

TO ADJUST THE DOOR cu'osme-i-speen

' forMBscrews.
__-_.-_Prepare transom!header bar and cover p!ate to accept closer as detailed below S e SRR e
- Fit jamb bracket to jamb with the 5 No. M5 x 24mm screws, washers and nuts.. . s "ﬁ —— ] B R
. Drill clearance ho!es and countersmk header bar for 2No M6 X 10mm screws and 2No. M6 X : rﬁ—* - DOOR SWING.

..-':_]_1 5mm CSK bolts.

- Fit steei ang!e bracket to_header bar usmg the 2No MG "'::"15mm boits, iockmg washers and nuts B

. CLOSING SPEEDADJUSTMENT ~  ~~

1, CLOSING RANGE

Locate't e-;-:2'fzxrng ugs into jamb bracket 'and' raise the -_rear' end of the closer into position. | .
L2 EﬁTC:_HiN(T:_i: ea_we:a_ =

- Fit the 2No. M6 x 15mm Hexagon head bolts and fiat washers through the angie bracket and thef-_--a_:_ i
© 2No. M6 x: 15mm Round head screws and lock washers. in ‘o the closer Eugs o .
”}-';'Check the 70mm p:vot posmon centra!:se the closer and secure all fuxungs

. BC BACKCHECKZON

TURN CLOCKWISE FOR' SLOWER SPEE
|/ ANTECLOCKWISE FOR FASTER SPEED




